




Math 
Subtitle



Order of 
operation



Look at this expression

Which one is correct?

18-13+2= 1st 18-13= 5
2nd 5 + 2 =7

1st 13+2=
2nd 18-

Then add 

subtract fist 



Then add 

Subtract fist (
(



What about this one?

18-6     3=16 1st    (6     3)

1st (18-6)
or

18-2= 16
Then subtract 

Divide fist 



Then subtract 

Divide fist (
(



16-14     2 = 1st    (16-14)

1st (14  2)
or

16-7= 9
Then subtract 

Divide fist 



Look at this expression

7      ( 4    8 )

Yes bracket first(4   8 ) = 12
Then 7       12= 84  



Then multiply 

add fist (
((

(















Now  it’s your turn




